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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-11_0
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455 460

m=560, FV0=0

21.0 A
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m=730,n FV0=0

21.75 A
——
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M_E
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m=915,n FV0=0

22.0 A
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——
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M_E
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m=500,n FV0=0
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—— MW

560

T T
565 570

m=730,m FV0=0
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25.
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——
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——
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M_W
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26.
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——
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P3-11

BfiE) | EBIETK (FD) | EB=E (EH/) | XK EFRF

07:40 300 150.0 RE| {Ri&e07:40 Bzl (REERS)
08:20 300 150.0 (Z=| 1Ri%e08:20 Bz (kABEREE)
09:55 300 150.0 (Z=| 1Ri%@09:55 Bzh (KABERESE)
11:20 300 150.0 S| Rige11:20 Bz (REAERE)
12:35 300 150.0 RS Ri%e12:35 Bz (REAERESR)
13:45 300 150.0 |Z=| 1Ri&e13:45 Bz (RBEEE)
14:45 300 150.0 |Z=| 1Rige14:45 Bz (RPBEREE)
23t1]2100.0 (70%) 1050. 0 ZHKEC: 2080.0, PH: 6.0

MEBEHERE STMAAEARS (195.0 : 156.0), AIREHTF—@E XAH4
ZRIALBRERE156. 0 ml.
AEREMEC (2665.0) 5i%EEC (2000.0) RELK KA, /T



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=46 (2025-05-18)

T e g g e S S B S g

100 A

50

(¢
200 A

100 A

VI, VB@FRV, ET - VI, VO, FVI, EVO, FRV, ad jFRV, ET

1200
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. v
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Warning: lcol [FVI',| "FVO’'] missing

1.0

— M_E

maxM

- 1500

371 1000

- 500

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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19.
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19.
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24.
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T T T T
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m=805,n FV0=0
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m=435,n FV0=0
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m=740,m FV0=0
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19.4 4
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18. 8 4

18.6 A

20. 50 A

20. 25 A

20. 00 A

19.75

19. 50

19. 25 -

25.
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m=585, FV0=0
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—— MW
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m=805,m FV0=0
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P3-11

BriE) | EBIATK (7)) | EME (BEH/HK) | XKR ERE

07:50 294 150.0 (Z=| 1Ri%@07:50 Bzh (kAERESE)
07:55 294 150.0 (& =| 1Ri%e07:55 Bz (kBERKSE)
09:25 294 150.0 |Z=| 1Ri&@09:25 Bzl (RkB{EEEE)
10:30 294 150.0 |Z=| 1Ri&e10:30 Bzl (GREAEEEE)
11:45 294 150.0 S| 1Rige11:45 Bzh (REERSE)
12:35 294 150.0 | Ri%e12:35 Bz (REERSE)
13:30 294 150.0 BS| 1Ri%e13:30 Bz (GREERSE)
14:25 294 150.0 S| 1Rige14:25 Bzh (REEZESE)
15:25 294 150.0 S| Ri%e15:25 Bz (REERESR)
23t 2646.0 (9%) 1350.0 3 WFHKEC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (191.0 :

ZRIALBRERE156. 0 ml.

156.0), AEEHT—@ % XA HS

AEREMEC (2660.0) 5i%EEC (2000.0) RELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=45 (2025-05-17)

1 e g g S S S B B
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200 -

150 fm=mmmmmmmm e
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50 A

V1, VBP®RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
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Warning: lcol ['FVI’,

"FVO' ] missing
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— M_E
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- 25

M_E

- 20

15

0.8 A

Warning: lcol ['WC1’,

"WC2' ] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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18.

18.

18.

18.

18.

17.

19.

19.

19.

18.

18.

18.

18.

26.

25.

25.

24.5 -

24.0 -

23.

560 660 760 860 960
m=675,n FV0=0

—o— M_E

i

6%6 6;8 650 6é2
m=925,n FV0=0

1T —e— ME

i

925 950 Qé5
m=610,n FV0=0

-— MW

i
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m=495, FV0=0
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17.4 4

17.2 A

17.0 4

16. 8 -

—o—
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m=745,m FV0=0

19.0 A
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P3-11

BriE) | EBIATK (D) | EHE (EH/HK) | XK R

07:25 300 150.0 iE| 1BRi%e07:25 B (REERSE)
07:30 300 150.0 BE| {Ri&e07:30 Bl (REAEHE)
09:05 300 150.0 |Z=| 1Ri%e09:05 B3 (RF{EEEE)
10:05 300 150.0 | =| 1Ri&e10:05 Bz (KREBEEE)
11:00 300 150.0 (2 =| 1BRi%e11:00 Bz (kAFERSE)
11:50 300 150.0 [Z=| fRi%e11:50 Bz (GGREEREEE)
12:30 300 150.0 | =| 1Ri&e12:30 Bz (KRBEEE)
13:10 300 150.0 (Z=| 1Ri%@13:10 Bz (REERSE)
14:00 300 150.0 |Z=| 1Ri&@14:00 Bzh (GREB{EEE)
14:55 300 150.0 (B =| 1Rige14:55 Bz (GRBERSE)
=23+13000.0 (10)%) 1500. 0 3233 %EC: 2080.0, PH: 6.0

TERRHLER 2 STEEART (195.0 :

ZRIALBRERE156. 0 ml.

156.0), AEEHT—@ % XA HS
AEREMEC (2660.0) 5i%EEC (2000.0) RELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=44 (2025-05-16)

150 A

100 A

50

(¢
200 A

100 A

1.0

VI, VOUBRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1950
1700 1600 560
242 123

40
Warning: lcol [FVI',| "FVO’'] missing 80

s Vi —_— M_E
FRV maxM

- 2000

- 1000

"%

=~

- 25

M_E

- 20

- 15

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

300 4 By lnit

200 -

100 A

D48 02:03: ET=1467 Fg=1950.0 Ro=519.0

¥ S

- 2000

- 1000
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100 A
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cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



18.

18.

18.

18.

17.
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17.
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22.
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T T
600 800
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25 A
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8é0 865
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——
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m=465, FV0=0
—.—
465 470 475
m=690,m FV0=0
—o—
690 695 700
m=890,m FV0=0
—o—
890 895 900
m=515,m FV0=0
—-—
515 520 525

m=515, FV0=0

18. 00 -

17.75

17.50

17. 25 ~

17. 00

16. 75 -

515

5é0 5é5
m=745,n FV0=0

18. 8

18.6

18. 4

18. 2 A

18.0

17.8 4

——

760 7%5
m=960,n FV0=0

18. 2

18. 0 ~

17.8 A

17.6

17.4 4

9é5 9%0
m=580,n FV0=0

26.0

25.5 -

25.0

24.5

24.0 -

23.5 A

——
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585 590

m=580, FV0=0

18. 4 -

18. 2 4

18.0 4

17.8 A

17.6 -

17.4 4

M_E

5é5 5é0
m=800,n FV0=0

18. 2 4

18. 0 A

17.8 4

17.6 -

M_E

T
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27 A

26 -

25 -
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23 A

22 A

660 860 10b0
m=635,n FV0=0
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-o— MW
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—— MW
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895 900
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26.
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24,

m=745, FV0=0

—0—

M_w

745

T T
750 755

m=960,m FV0=0

—0—

M_W

960

965 970

m=800, FV0=0

26.0
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25.0 -

24.5 -

24.0
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—0—

M_W
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T
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